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Improvement of Prune Parsing and
Its Application to Natural Language Processing

SHIN-ICHI MORIMOTO!

In this paper we state the application of the Pruned GraphStructured Stack Parsing algo-
rithm (hereafter we abbreviate it as Pruned GSSP) to the natural language processing and its
improvement. Pruned GSSP can parse many of context-free languages with high ambiguity
in O(n2) but we can not obtain all parse trees. In some application of context-free grammars,
possible parse trees are chosen to decrease ambiguity. As an example of such application,
we take natural language processing and discuss application of Pruned GSSP. We also state
the improvemnet of time complexity of Pruned GSSP to O(n). In this paper, we first define
Pruned GSSP and then discuss its application to the natural language processing. In this dis-
cussion, we first state current approaches to choose parse trees, compare Pruned GSSP with
these approaches and state modifications of Pruned GSSP to apply natural language process-
ing. Next we state the sufficient conditions of context-free grammars that can be parsed by
pruned GSSP in O(n) and show the grammar for natural language processing satisfies these
conditions.

Jan. 2008

1. 0DO00O0

00000000000000000000000
ooooooooY¥)Y oooo0000ooooon
000000000000000000000000
000000000000000000000000
000000000000000000Y 00000
0ooooooooo®0o00o00on

00000000000000000000000
000000000000000000000000
000000000000000000000000
000000 4)0000000043:SS8”0 “S:a

f1 0000 NECOOOOOoooo
NEC Aerospace Systems, Ltd.

gooobobooooooobooboooooooooo
oo0o0O00000oooODOOooOooODO0O00d “S:as”
O “S:2”00000000000000DO00CDOO
gobooooooooooooobooooooobo
goooobooooooooooobooooboobboo
gobooobooobooobooooon
ooooooooooooooOLrROOOOOO
uooooooooooboboobooobobobotbbbooooo
oooooboooooobooobooooooooon
ooooobooooobooooboobooooobo
gooooboooooooooooboooooooboooo
goooboobooooooooooooobooooooo
oobooooboooo
000O0Y000000000000000000
goooboooooooboooooooboboboDbo



2 gooo0oooooooooooooo

000 O(#»?) 00000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
0000000000000000000000
00000000000000000000000
000000000000000000000000
000000000000000000000000
0000000000000000000000000
00000001)0000000002) 0000
00000000000 O(®?) 000000000
0000000 O(x?) 0000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
O(n) 000000D00000000D01)00000
00002)00000000000000 O(n?) 0
000 O(r) D0000D00D00000D000000
000000000000000000000000
000000000000000000000
20000000003000000000000
000000000000000000000004
0000000000000020040000 4)0
000000000000000000000000
000005000000000000000000
0000D06000000000000 O(r) 000
0000D0D0000000000500000000
000000000000000070000000
000000000000000000000000

2. 00OQOoOO

goooooooopOoOoooo
tn00 nO0O000
00 n0 ;000000
w00 n0 n 000000000
0000000 07000 «eO0O00OO
n-n'On0 0000000
n-adnl « 000000
obodebOoboonoonO
00100000000 oooooo Goo40o
0 (Vv,Vr,S,P) 0000000000 Vy OO0
ooooooovy,0000DOOoooOoSoooooo
POOODOOODOOODOOV =VyUuVr0OOODO
o0 rePO0O00O0Or00000DODOOV OO

Jan. 2008
S/

.
/\ ¢\

S
X/Yy\d X/Yl\d
J /\ /\
Z e Z e
b/\C a b L

01 G10000
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(10) for = € Eq
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(13)  for y € B_shift0 /* 00 (2) O Parent[y] */
(14) Parent[y]:=Parent[z]; /* 00 100 */
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(19) for z € Eq
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(20) if z € Sleitem(a)Ay € Shiftl(z, a) then
(21) Parent[y]:=Parent[y]U{z};

(22) return Rclosure(Reduce_base);
Rclosure(D) /* 000000 1000 (4),(5) 000 */
(23) n:=0;Reduce[0]:=D;Reduce[1]:=0;E_return:=Reduce[0];
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(25)  for x € Reduce[n]NRedex
(26) for ' € Parent[z]
(27) if x' € ROeitem(z) then /* 00O (4) 000 */
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(35) for z € Reduce[n]NRedex

(36) for 2’ € Parent[z]NRleitem(z)

(37) if y € Reducel(z’, z) then

(38) Parent[y]:=Parent[y]U{z'};

(39) Parent[y]:=Prune(Parent[y]);

(40)  if Reduce[n + 1]# 0
(41) then E_return:=E_returnUReduce[n + 1];
n:=n + 1; Reduce[n + 1]:=0;
(42)  else return E_return; /*000 ((24)-(42)) 000 */
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(50)  else if | Dx[i] |> 1 then
(51) p:=Dx[] 000000;
(52) forz e Dx[i] /400000000 */
(53) if Is_prec(pz, x) then
(54) Pe 1= T
(55)  for z € Dx[i] /* p, 000000000000 */
(56) if not Is_prec(z, ps)
(57) then 0100 /* 0000000000 */
(58) D_result:=D_resultU {p,};
(59) return D_result;
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Is_prec(z,y) /* « <y 000 True, 0000000 False */
(60) i=body(z); I := finput(x); I, := finput(y);
(61) if PrecTab[i,l;,l,]=1 then /* x <y 000 */
(62)  return True;
(63) if PrecTab[i,l;,l,]= —1 then /* 2 <y 0000 */
(64) return False;
(65) flag:=True;
(66) for ' €Parent[z] /* 00 1500000000000 */
(67) x-flag:=False;
(68)  for y' €Parent[y]
(69) xflag:=x_flagV(z’ = y’)
V((body(z)=body(y')) Als-prec(z’, "))
(70) flag:=flagAx_flag;
(71) if flag then PrecTabli, l,, 1,]:=1;
(72) else PrecTabli, I, l,]:= —1;
(73) return flag;
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005 0000000000000000000
00000000000000000000000
000D0D0000000000000000000
000000000000(A) 0000 0 (B)OO
000 000000000000 (A)00D00000
“000000000 0000”000 “00000
00 00”0000(B)0000000“I00000
000 000”000 “000000000 0070
000005 000(A)0 “000000000 00
00’00000000 “0000000 00007
00(B)0 “000000000 007000000
00 “000000000100700000000
000 100000000000000000000
0oooooo

(A)0(B)D0O0O0O0OO0O0OOODODDOOOOOOO
000000000 300000300005)00
00000000000

5.2 00000000000000000000

005 0000000000000000000
000000000000000000000000
0000000000000

(J1)oooo

(J2) 00000



Vol. 49 No. SIG 1(PRO 35) goooooooOoooooooooOoboobooooo 7

oo0 oOo0O0
|

books on the desk

0000 000 0000
oooono ooo oog

04 OOODDOO
Fig.4 Rules and parse trees of PP attachment.

(J3) 00000

0300000000@J1)0 (J2)00000 5.10
00000@J3)0 “0000000 DooOo oo
O”00000000000000OO0ooOoooooOg
00040000 §,0000000000 m=2
oooooooooooo s;ooopooooogd
ooooos, 000 2)000000000000
oooUuoUooooo nHooo 200 40oon
0000000000000000 7)00 O(nPtY)
uood pobodboboobooboboboobomoo
2)00 O(»*000 400 Oo@HOOOOD0
0000 3)0o0Uuooooooooooooo
gooobooooooooooobooobooonoooo
oobooooooo

(E1) Noun-Noun Modification

(E2) Conjunction

(E3) Prepositional Phrase Attachment
0300000000(E)D (J1)OO0OO0O0(E2)D
(J3)000O000(E3) 00000000000 40
OO000Do0o0ooOooooOn S.00o03)oun
grammar AADOOODODOOOOOOOOO
oo0ooo Ss;00oo0oooooooooodg
oooooooo

5.3 ODO00OO0OO0OO0O0DOOOOOOODOOO

S, 00“SO0SS” 000 “SHa”"00000000
Oo0D0S, 0000000 “aea” OOOOOOOOO
gooooboob sbobboooboobobo
delboooOoOobOOoObOsSO0Oe0OOOOOO
input 000000 CCOOO0O0OO00O00O0O0O0OO0
oooooboboooooobboedxOOoOooOOO
goooocoosbobooxgooooooooon
O00000o0o0oOoUooooOoo s 0oooo
ooooooo s;o000000000000000
gooooooooooooobsOoOonobOobOO
gooobooboobooooboobooboo
0000005 0000000000000000

N
s .
s/— \S
7\
s s
N A

s —u0
W0

a a

. s

_— S\ S/ \#
/\ s,/f\s
VAN N

T’ T’ S T' s -5
a a a

A

a a a

leols : S_si1]s: S.513] [eo]s: S.572]5: 5.5{3]

N
/S\ ’
S - 3

N ©

S - 3

/N
T*—S

[eols: s Sit]s: S.52]s: S.513]
05 “eaa” 0000 S, 000000000
Fig. 5 Parse trees and stack of Sy for “aaa”.

‘ A}
!_'

06 “eaad” 0000 S; 0000000000
Fig.6 A Graph Structured Stack of Sy for “aaa”.

oooooooocbosbooobooboooooooboon
ooooooooobeooooonoooOoOoOOO
oobooooooboooboobocoon
54 O0O0O0O0OO0O0DOOOOOOOOOO
00400000000z € Parent(2) 0000 =
000000000 I*CIY0000 ye Parent(z)
Oo0O0oooOooooooooo 1304i=58:85.5



8 gooo0oooooooooooooo

0o0o0o0o0I1%Y = {i-i} C {io - i,i0 - 2} = 142
0000000 60x00000000000000
000000000000 500002000000
0000000000 (,3)0 n 00000000
000000000000000Oe - (Succ(i),n)0
000000000
000000 I = {ig}0 1% = {ig - 4,40 - i°}
oDooore g% gooo 60 (i,3) 00 e O
00000000000000000000 5000
000000000000 (,3)000000000
0000 body 00DDDOOOODOO00O Succ(io)d
00000000000 40-Suce(6)00000000
00 ip-4-Succ(d) 000000 ODOOOODOOOOO
000 Succ(d) 0000000000 OOOOODO
000000000000000000000000
000000 Succe(ip) 000DDO0000 00000
0000000000000O00OOOOOOOO S
0000000000000000000000000
0000000000 00000000000 000
000000000000000000000000
000000000000000000000000
000000000000000000
00000000000000000000000
000000000000000000 1000 (4)
OReduce0 000000000000 OOOOODOO
000000000000000000 1000 (5)
OReducel 0000000000000 O00O0OOO
0000000000000 00000000000
000000000000000000000000
000000000000000000000000
00000000000000
00 190=0 z0ye E0OOOO
body(z) = (r*,n*)0body(y) = (r¥,n¥) OO0 OO
Oy € Parent(z)
O7r% =1rYnv41
Ony =trY—1
00000000z=y 000000
r=y000002z0000000000 y0OO
Doooo
06 06000000000000000
z = (S : 85820y =(S: 85100000
r*=rY=5:5S80n,=n,=1000
Oy=(S:5.5,1) € Parent(x = (S : S_S,2))
Or®o=rYpv41 =9
Ony=1=¢rY -1
0000000000 1900000000 z=y0O
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goooog

00 200 Pruneyd z € EO
P C Parent(z) D0 OO
Pl ={yly € P,z = y}O
P2={zlz€ P,z ¢ Pl(z)} 00 OO
P1OP2 0O

Vy € P1,Vz € P2 0000 z € Parent(y)
O000000Pruney(Pz)y=P1O00O0O

O7 DeO0OO0OO0OO0O600DODO
x=(S:8.8,2)0y=(5:5.5,1) 00000
P =Parent(z) 000 Pl={y}0P2={ep} 00O
P1OP20O00 200000000000
Pruney (Parent(z),z) = P1 = {y} 0000000
Pruney 0000 6 00000000 OO0OOOO
z00 e O0000O0O0OO0O0O0ODOOOODOOO
oood
goooobooboooooboooooDb 20
O Parent(y) = Prune(P'(y))00 0O Parent(y) =
Prunen (Prune(P'(y)),y) 00000000
gooodo s ooobooooooboooooo
000o0oUooo0oooooOoDooo 1000 (5)
00000 OParent(y) =P (y)00O
O Parent(y) = Pruney (Prune(P’(y)),y)0 O
gobooooooooooboooboooooobooboboo
goooo

00000 200000000 50000000
Parent 000000 Prune LOOOOODODOOOO
000000 Parent 00O0000000000O0O
OO0 Parent 000000000 2000000000
oo 0pPOO0DOOO0O0OCODOOOOCOODOO
000o00000000000000000Prune
00000000 ParentO00O0O0O0P200000
gobooooooooobooobooOooooobonoo
g0000000000 Parent DOODOOODOOO
pooobbooobboooboooo

08 DeU0D xz,yOODODOO
w=(5:5.5,3)00000
Parent(w) = {eo, z}0 Parent(z) = {eo,y} 0O OO
Parent(w)Jw 000000 20000000000
000 Pruney(Parent(z),z) = {y} O000OODO
00000000000 Prunen(Parent(z),z) O
Parent(z) 0000 Parent(w)Jw 000000 20
goooooooobobooo

5.5 OD0O0O0OO0OO0O0DOOOOOOODOOO
540000000000000O0O00O0ODOODODO
oo 30
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(39) Parent[y]:=Prune(Parent[y]);
g

(39)  Parent[y]:=Prune_N((Prune(Parent[y]),y);
goooopobooboo40000bD0bO 6000
Prune NOOOOOOOOOOO

00000060000 isfold(z,y) D0z0y O
r=y 000 trued 0000000 false OO0
00000000 isfold(z,y) D0z O y O body
goobooooobobboooobobboooooo
was_Parent_elem(z,z) 00 80000000000
000000020 z0 Parent OO0 OOP200O0O
oboooooboo
obobodbe ODOOOOODOOOOOOO

Prune_N(P, )
NO1) P1 := 0; P2 := 0
N02) for y € P
N03) if is_fold(z, y)
NO04 then P1:= P1 U {y};
NO5 else P2 := P2 U {y};
NO06) is_pruneN := true; N_result := P1;
NO7) for y € P1; /* 00 2000000000000 */
N09 if not (z € Parent(y) or was_Parent_elem(z, 7))
N10 then is_pruneN :=false;/*00 20 00000 0*/

N11

)
)
)
)
N08) for z € P2
)
)
) if is_pruneN
)

(
(
(
(
(
(
(
(
(
(
(
(N12 then P1 := P1 U {y};

(N13) for z € P2

(N14) was_Parent_elem(z, z) := true;
(N15)  else N_result := P;

(

N16) return N_result;
6. DOOOOooaggd

5200000000030000 (A)O0@B)O0
0000000 S, 0000000000000000
0000 (A)0 (B)000000000000000
000000000000 O(»?) 000000000
500 (A)0(B)00D0000000D0000000
000000000000D0000D00000000
000000000000000000000000
0 O(n) 00000000000 S 0000 O(n)
000000000000000000000000

0000000 (1)000000000(2)000
00 D200000000000004)00000
000000000000 O(?) 00000000
00000000 O(n) 0000000000000
000000000000000000000 input

goooooooOoooooooooOoboobooooo 9

00 «"0nO0O00

6.1 JO00O0O0OOO0OODOO
J000o0oo00obooOobobooOobobobobooo
0-0000000000000000 O(n)OO
00000000 O(r) 0000000 O() 000
dooddoobooooooooooooooooo
dooooooood O(n)DDDDDDDDDDD
goboooo0 n0O00O0ODO0OOOOO O(nZ)DDD
goobogoo

00 210=0 2z0yeEFDOOO0OO
body(z) = (r*,n")0body(y) = (r¥,n¥) OO O OO

Oz =y

OrYpvsr =151
obobobob:s=y0OQooooOO

— 0000000 0000000 yOUOLOoO
0000oooooooon z000OOoOoOoooo
00001000 (5)000 body OO (r®,1) OO
Oy0Parent 00000000000 OOOOOO
god

09 0D000000DOOoDoDOoooOo Ss o0
ooo

(r%) 8" : 84

(r'ys:88 S8 (r*)S:S8a (r*)S:a
z=(S:85.5n)0y=(S:55.5n-1)0000
rf=r¥=5:8580n"=nY=200 z =y 0O
agoooo
Ss 0000 nO0D0000O00OO0ODOO0OOO O(n)
0o0ooood Oo(n)D0OUO0OOOOOOODOO
070000070000 nODOODODOOODOO
0000 (S:ae,n)y 00000O0ODOOOOOODO
good
(S:a,n)0D00000D0O000DD 1000 (4)
DO00(S:SSSn—10 (S:S58 S.,n) 00
goooooooooooooo IDDD(B)DDD

S:85.8in—2
S5:88.8in—1

400 (5) 400 (4)

NG

A
[5:55 5n—7

S:5.88: n

07 O(r)0DODOOOODO
Fig.7 Reduction sequence that needs O(n) process.
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A
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(S: 8.8 8n)0000000000O0OUOOOODO
(§:585.,n)000000 (S:SSS.,n—1)000
000 (S:SS5.8n-2)0 (S:SSS,n)y0000
0000000 (S:SSS,n—1)0 (S:5.55,n)
gboboboobooooooooo
00o0o00oooOooooooUoo Oon)0OODDO
00 On)00D0O00OO0OO0DOOOOOOO

0021 0000000000000 bodyd O «
ObodyOOOOOOOOOOOOOOOOO Parent
000000000 20 Parent DOODOO0OOO
00000000 00DOO0O0OD0OO0O0DD Parent O
oboooooobooboboooboobon =20
Parent 0000000 DOO0ODOOOOOOODOOO
goooboooboobooboooooboooboog
opbooo

004 z04'02"€ED

0 body(x) = body(z’) = (r,1)

0z= 2,2 = 2"
gooogo

Parent(z) 2 {2’} UParent(z’) OOOOOO
00000000z = ((n1),002 = {((r1),)0
¢ =(i,l"y00000

10000000 2/ 0 Parent00000 1o 00O
oboodboobooobuooboobooboobo
0000001000 (5)000 x000D00OODO
O 2’ € Parent(z) 00000000 (4)000 o
0000000 2000000 2”0 Parent 00O
00 z0000000body(z) = body(z') 00 DO0O
O000O00dDD Parent 0OODOOODOODOO
0/0000000 2 0000000000000
00000 Parent(z) D Parent(z’) 000000 O

oo040000000000 2 0DOODOODOO
07 00000000000000 200000
00000000 O(n)D0D0D0OO0ODOOOOUOO
OParent 00000000 ODOO0ODOODOODODOOO
ggoobogod

g10 S, 0000 » =8 : 585 000x =
{r, 1), )02 = {{(r,1),l — DO 2" = {(r,1),1 — 2)
0000 z02'02" 000 40000000000
0000 8O0000O08OO IO I—100!"DO
[—20000080C00DLD0O0O0O20000D0O0O
00000 mpuwtOO0O0O0OOO0OOOODOO 20000
goooboobooobooooooboobooboog
0o0ob0oooooobuoboOmpit00ooonog
ggobooobbooobboooboooobobo

004000 Relosure 00O OD0OO0OOOOOO
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(oooooo
2! S5:8.S 1"

I'(=1—-1)000000

11|

4oo (5)
(0ooo)

11|

40O (5) 400 @4

A A A A
2"[S:S.ST17] [S:SS_17] 2'[S:S.SiU"} [S:SS_i]

08 S 000000000000

Fig.8 Duplicate process in reduceaction in Sa.

Y00 () 400 @

00000000 30 RelosuredOOOOOO 700
0 Relosure 00000000000 OIsProp4(z, ')
O0z02 000 40 202 00000000000
0000 TrueeDOOODOOOOO

oopoooo 7 oooooooooo
Rclosure(D) /* 000000 1000 (4)0(5)000 */
(23) n:=0;Reduce[0]:=D;Reduce[1]:=0;E_return:=Reduce[0];
(24) loop /* 00000 ((24) 0 (42)) 0000 (42) 00 */
(LO)  L_flag=True;
(25)  for € Reduce[n]NRedex
(26) for 2’ € Parent[x]

(L1) L_flag=IsProp4(z,z’) and L_flag;

(L2) for '’ € Parent[z’']NRedex

(L3) L_flag=IsLngArrw(z’,z’") and L_flag;

(27) if x' € ROeitem(z) then /* 00 (4) 000 */
(28) E_reduce0:=Reduce0(z’, z);

Reduce[n + 1]:=Reduce[n + 1JUE_reduce0;

(29) for y € E_reduce0 /* 00 (4) O Parent[y] */
(30) Parent[y|:=Parent[z’]; /* 00 200 */
(31) if 2’ € Rleitem(x) then/* OO (5) 000 */
(32) E_reducel:=Reducel(z’, z);

Reduce[n + 1]:=Reduce[n + 1]JUE_reducel;

(33) for y € E_reducel /* 00 (5) O Parent[y]*/
(34) Parent[y]:= 0 ;

(35) for z € Reduce[n]NRedex

(36) for 2’ € Parent[z]NRleitem(z)

(37) if y € Reducel(z’, z) then

(38) Parent[y]:=Parent[y]U{z'};

(L4) if L_flag then

(L5) Parent[y]:=Parent[y|UParent[2’];
(39) Parent[y]:=Prune(Parent[y]);

(L40)  if Reduce[n + 1]# 0 and Not L_flag

(41) then E_return:=E_returnUReduce[n + 1];
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n:=n + 1; Reduce[n + 1]:=0;
(42)  else return E_return; /000 ((24)-(42)) 000 */
6.2 ODO0OO0OO0OODO
4000000000000000000000O0O 40
000000000000 PrecTabOOOOOQOOO
000000000Obody(z) =body(y) =:0000
z0y € F 0000 0OPrecTab[i, finput(z), finput(y)]
bbbz <yOOO0O 10z<y00000 1000
gobo0o0DO0O0OO0nOD0O00OO0COO0O PrecTabO
0000 220000000000 40 Is_prec(z, y)
00000 PrecTabO00O0O0ODOODOOO
0000000000 O()ODoOoooOooOoO nO
godooobooboooobooobooobo<obooog
00000000 O(»*) 0000
o0 s ObOoboboobooog
(1) D0ooODOO0OOOOO0ODOOOODOOOOODO
OO0 Parent 000000000 OO
(2) DOOOOUDOOOOOOOO<OOOO
0DOooO0o0O O(1)0
goooooooooOoOoboo400O0O0OOODO
0000 O(n) 0000
O00(1)OU0OOOO0OUO0OO0OO0O0O Parent 0O O
0000 O(1) 0000(2)00 Parent 00000
00 <0000000000 o) booooo
OParent 00000000000 O)OODOODO
gboobooboobobboobboobboobooo
0 0o1)0000000O0o0 400000 O(n) O
gogo g
011 S 000000000D0000Ooooon
00 (S:S5.5,k01<k<40000 Parent 00O
0000900000900 zO0y O y € Parent(z)
ooobooD « 00 yODOOOOOOODDODOO
S:58.50:0000
o90ob0obOob0oboboboboboobooo
(1) (,n) 00000000 (G,n—1)0 (G,n—2)0
(2) bon—1)0 (i,n—2)0 <000 (i,n—2) 0
(t,n—3)0 <00D000O0OO0OO0OOROO0ODOOO
000000000 PrecTabi,n—3,n—2]=1
0000(,n—1)0%,n—-20 <000000
000 o(1)0
gooooobooboos020b000o0oobooo
000o00ooUoU0ooooOoooo on)ODO
6.3 S, 00000000
gldo s;0dd040000000000000
000 700000000000000 O(n)0ODO
000oo0Oooooo 1100 S 00050000

goooooooOoooooooooOoboobooooo 11

oooooo

ooooo
"
"
leog
"

s

09 S, 0000 Parent 00000
Fig.9 Relation among parent sets in Ss.
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goooboboooooooboboooooooooo
goboobooooobobobooooobobooooobo
odoooooboooooooobooooooooo
gooobobooooooooooobooooooooo
ooboooobooooo

gobooooboooooooooobocooooooo
gooooboooooobooobooooooooon
gooobooOoooooooooobooooooooo
o0 S, 00opoooooooboooooooooog
goooboooooooooooboooooooo
goooobooooooooobooooooooo



12 gooo0oooooooooooooo

0000000000 S;000ooooooooo
gooooboooooooooooboooooooo
ooboooooboooooo

8. 0O 0O O

00000000000000000000000
000000000
00000000000000000000000
000 (S,) 0 O(n) 000000000
70000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
00000000000000
00000000000000000000000
000000000000000000000000
000000000000000000000000
00O

ug o0 0 0

1) Inui, K., Sornlertlamvanich, V., Tanaka, H.
and Tokunaga, T.: Probabilistic GLR Parsing:
A New Formalization and Its Impact on Pars-
ing Performance, Journal of Natural Language
Processing, No.5, pp.33-52 (1998).

2) Kipps, J.R.: GLR parsing in time O(n®), Gen-
eralized LR Parsing, pp.43-59, Kluwer Aca-
demic Publishers (1991).

3) Martin, W.A., Church, W.K. and Patil, R.S.:
Preliminary Analysis of a Breadth-First Pars-
ing Algorithm: Theoretical and Experimen-
tal Results, Natural Language Parsing Sys-
tems, Bole, L. (ed.), pp.267-328, Springer-
Verlag (1987).

4) 0000000 0OO00O0D0OOOOoOooooo
od0ooUooo0oooooooouooooodg
000000000 00o0oUooooooooogo
Vol.47, No.SIG 16 (PRO 31), pp.66-85 (2006).

5) 0000000000000 OOooOoOoOoO
O00000000ooooooooodyvVoll2,
No.1, pp.3-31 (2005).

6) Tomita, M. (Ed.): Generalized LR Parsing,
Kluwer Academic Publishers (1991).

7) Tomita, M. and Ng, S.K.: The generalized
LR parsing algorithm, Generalized LR Parsing,
pp.1-16, Kluwer Academic Publishers (1991).

g g

Al O00OOO
20000 8060000 1000110000 7O80O

Jan. 2008
s s
X/ll\d X Y
7 e Z/\e
a (Z : bec, ab) a(z : be., abe)

x = (Z : bc,aby € SOeitem(c)  (Z : bc_,abc) € Shift0(z, c)
0 10 SOeitem(c) O ShiftO(xz,c) 00O
Fig.10 Example of SOeitem(c) and Shift0(z, c¢).

s s
N
(S: X_Yd,ab) /\
7 e

4 4 @ (Z : c_,abc)

= (S:X.Yd, ab) € Sleitem(c) (Z : c_,abc) € Shiftl(z,c)
0 11 Sleitem(c) O Shiftl(xz,c) OO
Fig.11 Example of Sleitem(c) and Shiftl(z, c).

=

S S

_N\&' =(5:X.Yd,ab) ‘k (S: XY _d, abce)
Y_d

e

Ni

= (Y : Ze_, abce)

z' € ROeitem(z) (S : XY _d, abce) € ReduceO(z’, z)

0 12 RoOeitem(z) O Reduce0O(z’,z) 00
Fig.12 Example of ROeitem(z) and ReduceO(z’, ).

Z 7_¢
/\x =(Z: bc_,abc)
alb C_ ab ¢
2’ € Rleitem(x) (Y : Z_e,abc) € Reducel(z’, )
0 13 Rleitem(z) O Reducel(z’,z) 00
Fig.13 Example of Rleitem(z) and Reducel(z’, z).
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‘ /\ (Y : Z_e, abc)

otouonon 1200 130000

A2 00000000

010 G1000 “abce” OOODODODOOOO
000 14 0000z = (Y : Ze,abc)0x1 = (S :
XYd, a)ze = (S : X Yd, ab)02" = (S :
XYd, abcey 0ODOO0O 140000000 300
ol1o0o00oooooooooobooooooono 3
uobl10oo0oboodoooobooooboooooooo

000 ebc0000O0O0Z000000000O
000000000 o0o0o0oooooooouG1Oo
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O00000000000000x, 0200000
0 20 Parent(z) 0 2102, 00000000000

014000000000 e00D00O0Y :ZeDO
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!M /M 000000000000000000000000
VN X/%\ A3 002000
XY d Y d
002 z<yOOO I®CIYO
0 0O L(z, y)=max(finput(z),finput(y)) 00 0O
3 O0L(z,y) 0000000000000 O00000O
T 00000000000000000 e0000OO
QSR 0000000000 10000 (A)OB)0ood
s 5’ 00
A SA# (A) z € Parent(y) 00O 0O finput(z) < finput(y)d
< v\ X vV (B) tinput(z)=0000 z = eoO
/\ /\ OO0 15 000z < yfinput(y) = 0 OO0
J Ze fe finput(z) =0 00000000 finput(z) =0 00
b c b ¢ 000000001000 (1)00 Parent(z) =

( 1 Y T N ( z2 Y T
leols: X Yd afy:Z elabd [eolS: X Ydiabl:Z elabd

) 4
N N,

XKd X/Y\
Z e 7 e
b/\C b|C

[0l XY _d abee] colg: XY _d abee)

014 G1000000 abce0OO

Fig. 14 Parse process for abce.
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